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MULTIPLE CHOICE (##H). Choose the one allernative that best completes the statemant or answers the question.
(fEREEY A, JE160, A5

1) You are the new vice president in charge of advartising at YZUME. In your upcoming adverlising campaign, you plan to degrate tha
fas! food competitor whose product is the closest substilule for YZUMK's tacos. That would be the fast food chain whose cross
elasticity of demand with your tacos Is equal o

A) negative 2 11 B) positive 1.55 C) negative 1 75 Y positive 1.00

2} If the: CP) baskel of goods cost $200 In the referance basa period and $450 in a later year, the CP| In the later year equals

A) 250 B) 275, ) 300, ) 450,
3} Linda is willing to pay 34 for the first cup of coffes a day, $2.50 for the second cup, and $1 for the third cup, after which she won't
buy any coffee. The price of a cup of coffee s §2 40, Linda's consumer suiplus is § per day.
A) §1.60 B} $6.50 C)s1.70 0 $4.80

4) Hellen's consumer aurpiug from the firet pieces of cake she buys = greater than the consumer surplus from the second plece because
of

A) decreasing marnginal benaefits. B) decreasing marginal cosis,
) Increasing marginal benafits. 0} increasing marginal cost

&) Dave has a van valued al $20 000 that gives him a utility of 80. There is a 5 percent chance that he will have an acciden! that will
maka his van worthless, in which case his utllity will be zero. His ulility from a wealth of $15,000 is 78, The maximum amount Dave
will be willing to pay for insurance is

A) $3,000. B) $1,000. C) $5,000. D) 515,000,
B) If Alan is rizk avarsa, at a wealth of $200,000 his utiity of wealth curve hasa slops and his marginal utility of wealth is
than at a wealth of $100,000.
A) positive; smaller B) negative, larger ) nagative; smaller D} positive, larger

7} In a duopaly, if advertising only lakes custamers from rivals rather than attracting new customers, then
Al there is no dominanl strategy

B} firms need not collude to maximize thair jaint payoft
C} the Nash equilibrium masimizes the joint payoff

) the Mash equilibrium does not maximize the joint payoff

8) The Figou effect might be Ineffective in correcting a recesslon if

A) people expect the Implied deflation to continue B) there is a liquidity trap

C} prices are falling ) the govamment does not expand the money supply

) If two identifiable markats difter with respect to fhair price elasticity of demand and resala s impossibie, a firm with market power will
A} set price so as to equale the elasticity of demand across markets.

B} set a ghear price in the market thal Is maore price olastic
] sel a lower price in the market that is mone price slastic,
[ s&t price equal to marginal cost in both markets,

10} If the price efasticity of demand for UNIQLO clathing (s D84, this implies that
Al'a 10 parcent increasa in the price of UNIOLO clothing leads 1o a 6.4 percont decraasa in fhe quantity demanded.
B} a 6.4 percent increase in price the price of UNIQLO clofhing leads (o a 10 parcent decrease in the quantity demanded.

C) i there is an increase in the price of UNIGLO clothing the total expandiuras on UNIGLO ciothing decreases
0} Both answers A and G are correct
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11} Sherry has her choica of either a certain income of $20,000 or @ gambie with a 0.5 probability of $10,000 and a 0.5 prabahility of
530,000 The expected value of the gamble

A} ig less than $20,000.
C) 15 §20,000,
12) A multimarket price discriminator sells fts praduct in Chung-Li for three timas tha price it sets in Taipai. Assuming the firm faces the
samée constant marginal cost in each market and the price efasticity of demand in Talpsi iz 2.0, the demand n Chung-Li
A} has an elasticity of -1.2 B) has an elasticity of -0.87,
T} has an elasticity of -5.0. D) is more price elastic than the demand in Taipei,
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B) is greater than $20,000
D} cannat be determined with the infarmation provided.

13} If a firm offers & senicr citizen discount but doesn't adverise the discount,
A} the firm avoids falsely sorting a senlor citizen into aroup with a lower income.
B) the firm avoids falsely sorting a senior citizen inta a group with a lawer price etasticity of demand.
C) the firm avoids falsely sorting a senior cilizen into a group with a higher income,
D} the firm avoids falsely sorting a senior citizen inta g group with a higher price slasticity of demand,

14) Suppose Nick Chater deposits $20 millian Into his checking account at YZU Bank. [f tha reserve requirement ratio is .1 what is the
maximum change in moneay sSuUppiy ?

A} S1BO miltian B) -5200 million C) -$180 million D) $200 million

15) The fellowing data describe MK cauntry's amnmﬁy in2010. From the o
i J ata, we can conclude th
Govemment spending 3210 biflion 7 COnaRIdd e

E) 52 milkon
in MK in 2010

Inveshment $210 billion A} Consumption totaled $591 billion

lEEpI.‘:HH 272 billion B) Net exports totalad -£11 billion,

mporis $2B3 billion

GDP 1 rifllan C) Imports ware the lamest component of GDP
Population 110 miilion D} GDP per parsan equalfled $2000

ESSAY(RTH&MSE]). Write your answer on a soparate sheet of paper, (94-4)

18} Jornna has a credit card account with YZU Bank. ¥ZLU Bank's available strategies am Ip raise Joanna's credit card interest rate ar
do nothing. Joanna's available strategies are to transfer her Y2U Bank account balance to another creditor or do nothing. FYZU
Bank raises Joanna's interesl rate and Joanna does nothing, YZU Bank Increases profits by $1.000 while Joanna recejves -§1,000
IF¥YZU Bank ralses Joanna's interest rate and Joanna transtars her accaunt fo anather creditor, Y 2ZU Bank receives -$300 while
Joanna recelves -5100. If YZU Bank doss nothing and Joeanna does nothing, each player receives 30, |f YZU Bank does nothing
and Joanna fransfers her account to another creditor, YZU Bank receives -$300 while Joanna moeives -§150. Disgram the game
tree for this sequential game. Indicate any Nash equilibria. (20 4+)

17} Many manufacturers sell products labaled as having imperfections at a discount at their factory outlets but do nat ship these
impariect goods to reqular retail outlets Why? (54

18} The below table gives information for the nation of NH. There are no imports to or exports from NH,

Real GOP c ! G

(bitlions of | (bilions of | (billiens of | (billions of
2000 2000 2000 2000

dollars) daoillars) dollars) dallars) a} Find aggregats planned expanditure for each level

100 150 150 150 of real GDP {10 43)
200 200 150 150
300 250 150 150 b) What is the equilibrium leval of real GDP? (545)
400 300 150 150
500 350 150 150
500 400 150 150
700 450 150 150
BOO 500 150 150
00 550 150 150° |
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